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A STORY OF UNITS

Lesson 16 Problem Set m

Name

Date

Solve.

1. Mr. Frye distributed $126 equally among his 4 children for their weekly allowance.

a. How§1uch money did each Chl|d receive? m C}/\/\\d UJ\\‘\ veLuve H 3\ 50
| |20

[Telz0z] "g“jo
12054 =

-__-‘-l
51.9 29
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b. John, the oldest child, paid his siblings to do h|s chores. If John pays his allowance equally to his

brother and two sisters, how much money will each of his siblings have received in all?

Eac svoling wivt fuwzfsmﬁ H2.00 in ald.

= 31.50- 2\.50 31.90
71?27 oL + 10.90

- O
2. Avais 23 cm taller than Olivia, and Olivia is half the heigﬁt of Lucas. If Lucas is 1.78 m tall, how tall are
Ava and Olivia? Express their heights in centimeters

.\ ' Ava s 12 _cm

o Ovia is 81 cm
—%A —122 uml
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A STORY OF UNITS Lesson 16 Problem Set m

3. Mr. Hower can buy a computer with a down payment of $510 and 8 monthly payments of $35.75. If he
pays cash for the computer, the cost is $699.99. How much money will he save if he pays cash for the

computer instead of paying for it in monthly payments? m(\ \’\'OV\IQY" W \ \\ SOWQ f& q

b 1% 15 ,w
35% mmam FX%B %

% -,99.99
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= 280.00

510
+ 230
190

4. Brandon mixed 6.83 Ib of cashews with 3.57 Ib of pistachios. After filling up 6 bags that were the same
size with the mixture, he had 0.35 Ib of nuts left. What was the weight of each bag? Use a tape diagram,

\’?;B__ q&\ss s = § 390
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A STORY OF UNITS Lesson 16 Problem Set m

5. The bakery bought 4 bags of flour containing 3.5 kg each. 0.475 kg of flour is needed to make a batch of
muffins, and 0.65 kg is needed to make a loaf of bread.

a. If 4 batches of muffins and 5 loaves of bread are baked, how much flour will be left? Give your

answer in kilograms. —T'yw ‘ CA %g K(j B’( 'Q‘OUJ\(.\‘Q%

Mg 1 713
SRR g

ydo +%Wm_\'-\0 8.33
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! X 2
G0 0 thousanhs 2.5 humdrsdhs
= 1.900 =525

b. The remaining flour is stored in bins that hold 3 kg each. How many bins will be needed to store the

flour? Explain your answer. m \)\)\\\ bL _:6__. \O\I\S MMA
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